<html>
<title>Aplikacje_java</title>

<head>
</head>
<body>

<script>
function oblicz (lan)

if(lan.x.value=="")
alert("wprowadz cyfre x ");
else{

x=lan.x.value;

lan.
lan.
lan.
lan.
lan.

by
}

</script>
<h1>0bliczenia sin/cos/tan/arctan !!!</h1>
<form name="oblicz1" action="">
Podaj cyfre x = : <input type="text" name="x">
<br><p>
<input type="button" value="Oblicz" onClick= "oblicz(this.form)" >
<br><p>
X = :<input type="text" name="u"> <br><p>

sin x= :<input type="text" name="w"> <br><p>

tangens x= :<input type="text" name="m"> <br><p>

cosinus x= :<input type="text" name="t"> <br><p>

arcus tangens x = : :<input type="text" name="o0"> <br><p>

.value=x;
.value=Math.sin(x);
.value=Math.tan(x);
.value=Math.cos(x);
.value=Math.atan(x);

Ot 3==C

</form>
</body>
</html>



